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101|R#A7 L 419 116 303 Kg |EE 1,080 324| 5 2,484 540
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134[#= 278 108 170| Kg |EE 2,700 540 |l 2,808 972
140(5 I 21 21| Kg b 34,560 10,800
147|E2 O 108 108| Kg EIRE - g 8,000 4,000
158|&TEN A IEH 340 340| Kg R 2,160 1,512
201{Lvb L 320 320| Kg imE 1,512 405
203|/hd L 216 216| Kg R 432 324
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206| = 1F 545 545 Kg X 713 216
207|= A K 8 8| Keg imE 1,134
208| Mo % 456 456| Kg £4fH 1,404 216
2094 B & L 156 156 Kg = 918 864
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332|= 13 WA =EF 152 152] Kg Bl = 3,024 2,052
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4025 5 &E 37 37 Kg A0 6,480 3,780
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57648 & 1F 124 124| Kg JeimE - A 1,512 990

1/1




AFn6iE6 H24H (BEER)

P T R SR ST T ONES) e H

T HEInt e e 8.5 [
(it T BB 5 Te)
4, 7 H R (kg) o o5 FRAXIER |
S s — — i AL — — — —
AH #h5e FRIELS | FEHH =B () ) | e FEHH mfE () EE) | ZfE(M)

70110 BA 7,644 4,488 3,066| Kg |EE 2,484 1,550|& & 2,484 886
71019 2 ®HA0F 29 291 Kg = 1,530 1,260
BlBEFALANIN 37 371 Kg SR 2,592 1,440
755(Fd L 47 471 Kg R 710
76l|1b Y AEE 306 306 Kg Ml - KE 2,160 950
01 [IBAL = 1T 152 152 Kg == 1,728 1,188
802|1 x| 40 40 Kg mE 1,242
8051 1E 204 2041 Kg B =2 1,058 540
810|FAKF 71 71 Kg bF 2,760 1,296
8lh|—W T AX 30 301 Kg 2Dzl 1,194 572
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